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Quel nombre se trouve dans chaque cadeau?
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QUESTG-CE QUE LE CADEAU? (C) SOLUGIONS

Quel nombre se trouve dans chaque cadeau?

78 - 37 =| 41 52 - 31 - 36 = 36
42 - 13 = 29 22 - 4 - 39 = 34
95 - 49 = 46 29 - 9 - 7 = 31
72 - 40 =| 32 64 - 42 - 42 = 14
64 - 22 =| 42 80 - 40 - 7 = 47
5 - 24 = 31 57 - 9 -1 12 = 22
45 - 32 |= 13 60 -| 37 - 36 |= 15
388 - 15 |= 23 22 -| 11 -1 12 = 22
52 - 6 |= 46 60 -| 19 -7 |= 40
45 -| 27 |= 18 64 -| 35 -1 46 = 44
53 |- 29 = 24 68 |- 19 - 17 = 44
88 |- 40 = 48 84 |- 43 - 36 = 4
80 |- 31 = 49 25 |- 10 - 23 = 37
28 - 17 = 11 32 |- 18 - 43 = 10
47 |- 5 = 42 58 |- 28 - 4 = 4
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